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1. Attempt all questions. 
2. Make suitable assumption wherever necessary. 
3. Each question is of 1 mark. 
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 
5. English version is authentic. 

 
No.  Question Text and Option 

1. Copper has ____ crystal structure. 
A. B.C.C. B. F.C.C 
C. H.C.P. D. None of above 

2. Permeability is a _______ property of material. 
A. Thermal B. Chemical 
C. Mechanical  D. Magnetic 

3. Electrical insulating material must possesses good ____________. 
A. Dielectric strength B. Tensile strength 
C. Hardness D. Conductivity 

4. Which of the following is a chemical property? 
A. Melting point B. Acidity 
C. Hardness D. Reflectivity  

5. ______________ are conductors of heat and electricity. 
A. Metals B. Ceramics 
C. Semi conductors D. polymers 

6. Two nearby grains meet at a surface. This surface is known as ______. 
A. Crystal B. Unit cell 
C. Grain boundary D. Co-ordination number 

7. Fine grained metals possess __ ____. 
A. higher ductility B. higher machinability 
C. higher hardness D. higher malleability  

8. The temperature composition diagram which shows the changes in structure on 
cooling and heating , is called _________. 
A. Equilibrium diagram B. Stress strain diagram 
C. Ray diagram D. Microstructure 

9. The solid solution of Iron and carbon is an example of ________ solid solution. 
A. Ordered substitutional B. Disordered substitutional 
C. Interstitial  D. None of above. 

10. The rule which determine the relation between the number of phases in equilibrium, 
number of components and number of degrees of freedom in alloy system, is called 
A. Lever rule B. Gibbs rule 
C. Hume Rodhery’s D. None of above 

11. On cooling of an alloy system,  the isothermal reaction,   
Liquid Solid1 + solid2  is called 
A. Eutectoid reaction B. Peritectic reaction 
C. Eutectic reaction D. Peritectiod reaction 

12. In phase diagram, The line above which alloy is in liquid state is called  
A. Solidus line B. Liquidus line 
C. Tie point D. Inversion line 



13. As per TTT diagram for 0.8% carbon steel, if austenite is cooled rapidly, the 
microstructure has  
A. Pearlite B. bainite 
C. Cementite D. martensite 

14. The carbon content in steel containing 100% pearlite is   
A. 0.8% B. 0.025% 
C. 1.7% D. 6.67% 

15. Which of the following structure is observed by Metallurgical microscope? 
A. Macrostructure B. microstructure 
C. Atomic structure D. nanostructure 

16. Which is not a part of Metallurgical microscope? 
A. Iris B. Eye piece 
C. Fine adjustment screw D. etchant 

17. Sodium chloride (NaCl) possesses   
A. Ionic bond B. Covalent bond 
C. Vander walls bond D. Metallic bond 

18. Etchant used for mild steel specimen is  
A. Nital B. Kellers reagent 
C. HCl D. Alcohol  

19. Pig iron is a product obtained from 
A. Cupola furnace B. Bessemer convertor 
C. Puddling furnace D. Blast furnace 

20. White cast iron is 
A. brittle B. very hard 
C. having poor mechanical 

property 
D. all of above 

21. Which of the following cast iron is known for its castability and self lubricating 
characteristics?  
A. White cast iron B. Nodular cast iron 
C. Grey cast iron D. Malleable cast iron 

22. Medium carbon steel contains  ___% carbon. 
A. 0.05% to 0.15% B. 0.1% to 0.3% 
C. 0.3% to 0.6% D. 0.8% to 2.0% 

23. Which of the following steel has highest ductility? 
A. Mild steel B. Medium carbon steel 
C. High carbon steel D. High carbon tool steel 

24. 65T5 is a 
A. Tool steel B. Structural steel 
C. Plain carbon steel D. Stainless steel  

25. Addition of Copper in steel, increases its __________. 
A. weldability B. tensile strength 
C. toughness D. corrosion resistance 

26. In _______ process, the article is cooled in furnace by switching off the power 
supply. 
A. hardening B. normalizing 
C. annealing D. tempering 

27. Compared to annealing, normalizing steel has more_________. 
A. strength B. hardness 
C. impact strength D. all of above 

28. Hardened steel produces ________ in microstructure. 
A. Bainite B. Ferrite 
C. Martensite D. Pearlite 

29. _______ is a process of heating previously hardened steel to below the lower critical 
temperature and then cooling back to room temperature. 
A. Hardening B. Normalizing 



C. Annealing D. Tempering 
30. High frequency current is used in __________ hardening process. 

A. Flame  B. Induction 
C. Carburizing D. Nitriding 

31. The teeth of gears are normally hardened by _________hardening . 
A. Flame  B. Induction 
C. Carburizing D. Nitriding 

32. For nitriding process, ________ gas is used. 
A. NH3 B. N2 
C. NO D. CO2 

33. Which of the following will provide highest cooling rate? 
A. Brine solution B. Cold water 
C. Hot water D. Mineral oil 

34. Muffle furnace is a__________ type furnace. 
A. batch B. electric heated 
C. hardening  D. all of above 

35. Pearlite is a layered structure of _______. 
A. cementite and austenite B.  austenite and ferrite 
C. ferrite and cementite D. banite and ferrite 

36. ______ is an intimate mixture with metallic properties and is composed of two or 
more elements, of which one is metal. 
A. Dendrite B. Alloy 
C. Composite D. Semiconductor 

37. The magnification of metallurgical microscope is _______. 
A. below 20X B. 20X to 2000X 
C. 2000X to 20000X D. above 20000X 

38. The magnification of eye piece is 20X and objective is 40X. The magnifications of 
metallurgical microscope will be______. 
A. 60X B. 2X 
C. 800X D. 20X 

39. The advantage of non ferrous metals and its alloys compared to ferrous metals is__. 
A. good corrosion resistance B. low density 
C. high strength to weight ratio D. all of above 

40. Which of the following is an alloy of copper? 
A. Gun metal B. Brass 
C. Bronze D. All of above 

41. The ____ has shining yellowish red colour and good conductor of heat and 
electricity. 
A. Aluminum B. Copper 
C. Zinc D. Lead 

42. Cartridge brass has ____% Copper and _______% Zinc. 
A. 70, 30 B. 60, 40 
C. 30, 70 D. 40, 60 

43. Bronze is commonly used materialfor  ___. 
A. bearing B. Pipes 
C. sheet D. nut and bolt 

44. Which of the following is an alloy of aluminum? 
A. Gun metal B. Y-alloy 
C. Muntz metal D. Gilding metal 

45. Compared to steel, aluminum has  
A. higher strength B. higher hardness 
C. higher machinability D. low corrosion resistance 

46. For producing aircraft parts, _____ is used. 
A. Duralumin B. Mangalium 
C. Hindalium D. None of above 



47. For cooking utensils, _______ is used. 
A. Duralumin B. Mangalium 
C. Hindalium D. All of above 

48. Abrasive, glasses, refractories belongs to ______category of material. 
A. Metals B. Composites 
C. Ceramics D. Semiconductors 

49. Which one of the following is not a property of ceramic material? 
A. High compressive strength B. Bad conductor of heat 
C. Good hardness D. good conductor of electricity 

50. The material which can withstand high temperature is called________. 
A. abrasive B. glasses 
C. adhesive D. refractories 

51. The grinding wheel is made by bonding of particles of ______ material. 
A. abrasive B. glasses 
C. adhesive D. refractories 

52. Which of the following is used as insulating material? 
A. Asbestos B. Gasket 
C. Thermocole D. All of above 

53. ________ is a thermosetting plastic. 
A. Polystyrene B. Melamine 
C. Polyethylene D. Acrylics 

54. Thermoplastics   
A. can’t be reshaped.  B. can be used at high temperature 
C. is produced by addition 

polymerization. 
D. has cross linked structure. 

55. Toothbrush handle is normally made by 
A. Cellulose B. Melamine 
C. Urea formaldehyde D. Polyster 

56. Melamine is used for making _____. 
A. circuit breaker parts B. radio cabinet 
C. cup-saucer D. all of above 

57. The correct sequence of producing powder metallurgy product is ______. 
Sintering (1), Production of powder(2), blending of powder (3), compacting(4) 
A. 1- 2 -3 -4 B. 2 -3 – 4-1 
C. 2 –1- 4 -3 D. 4 – 1- 3-2 

58. Which of the following is not an application of powder metallurgy? 
A. Filament of electric bulb B. Tungsten carbides tip 
C. Balls of ball point pen D. Fan blade 

59. Which of the following is not an advantages of powder metallurgy ? 
A. Low capital cost B. Production of porous parts 
C. Good dimensional accuracy D. No wastage of material 

60. For production of powder of aluminum, tin,  ______ method is used. 
A. Reduction B. Electrolysis 
C. Atomization D. Mechanical pulverization 

61. Which one of the following is not the purpose of electroplating? 
A. improve appearance B.  protect against corrosion 
C. rework worn out parts D.  improve hardness 

62. Arrange following metals in increasing inertness as per standard emf series. 
Gold, Silver, Iron 
A. Iron, Silver, Gold B. Gold, Silver, Iron 
C. Silver, Gold, Iron D. Iron, Gold, Silver 

63. For Galvanic series 
A. Platinum has high inertness B. Magnesium is highly active 
C. Emfare more practical and 

realistic. 
D. All of above. 



64. __________ is a localized corrosion in which small holes are formed. 
A. Crevice corrosion B. Pitting 
C. Uniform corrosion D. Stress corrosion 

65. ____________ is a result from the combined action of an applied tensile stress and 
corrosive environment. 
A. Crevice corrosion B. Pitting 
C. Uniform corrosion D. Stress corrosion 

66. For ____________ series, ranking is based on the magnitude of the voltage 
generated when the standard cell of a metal is coupled to hydrogen electrode at 
250C. 
A. Galvanic  B. Parallel  
C. Standard emf D. Hydrogen 

67. Which one group of material possess corrosion resistance?  
A. Stainless steel, mild steel B. Mild steel, medium carbon steel 
C. Mild steel, plastic D. Stainless steel, plastic 

68. A substance that bonds together the surface of the two other materials is called 
A. Abrasive B. Adhesive 
C. Alloy D. Ceramic 

69. A primary interatomic bond that is formed by the sharing of electrons by 
neighbouring atoms is called 
A. Metallic bond B. Hydrogen bond 
C. Covalent bond D. Coordination number 

70. The time dependent permanent deformation under stress normally at elevated 
temperature is called __________. 
A. Creep B. Toughness 
C. Endurance D. Ductility 

 
************** 

Ȥજુરાતી 

ન.ં ̆ĕ તેમજ િવકƣપ 

1. 
TF\AFGL :O8LS GL ZRGF ___________ 5|SFZGL CMI K[P 
A.  ALP;LP;LP B. V[OP;LP;LP
C. V[RP;LP5LP D.  VFDF\YL V[S 56 GlC 

2. 
5NF”YGL 5FZUdITF  ___________ U]6W”D NXF”J[ K[P 
A.  YD”, B. S[lDS, 
C. lDS[GLS, D.  D[uG[8LS 

3. 
lJ3]tF VJFCSTF JF/F 5NF”Y DF8[ ;FZL  ___________ H~ZL K[P 
A.  0F. .,[S8=LS :8[=gY B. 8[g;F., :8=[GyF 
C. CF0”G[; D.  JFCSTF 

4. 
GLR[GF DF\YL X\] ZF;FIl6S U]6W”D NXF”J[ K[P  
A.  D[<8L\U 5M.g8 B. V[l;0L8L 
C. CF0”G[X D.  ZLO,[S8LJL8L 

5. 
___________ pQDF éHF" VG[ lJW]T éHF" GF JFCS K[P 
A.  WFT]VM B. l;ZFlDS 
C. VW”JFCSM D.  5M,LD;” 

6. 
A[ GÒSGF S6M V[SALHFG[ H[ ;5F8LDF\ D/[ K[ T[ ;5F8LG[___________ SC[ K[ 
A.  :O8LS B. V[SD SMQF 
C. U|[>G AFpg0=L D.  SMl0”G[XG G\AZ 

7. 
OF.G U|[.G GL WFT]VM  ___________ WZFJ[ K[P 
A.  prR 0lS8,L8L B. prR DXLG[AL,L8L 
C. JWFZ[ CF0”G[; D.  prR D[l,V[AL,L8L 

8. 8[d5Z[RZ VG[ Sd5MhLXG 0FIU|FD H[ S],L\U VG[ CL8L\U NZdIFG DF/BFDF\ O[ZOFZ NXF”J[ K[ T[G[___________ 
SC[ K[P 



A.  ;DT],G 0FIU|FD B. :8=[; VG[ :8=[.G 0FIU|FD 
C. Z[ 0FIU|FD D.  DF>S=M :8=SRZ 

9. 
VFI”G VG[ SFA”G G\] ;Ml,0 ;M<I]XG4  ___________ ;Ml,0 ;M<I]XG G]\ pNFCZ6 K[P 
A.  VM0”0 ;A:8L8I]XG, B. l0;VM0”0 ;A:8L8I]XG, 
C. V\TZF,LI D.  VFDF\YL V[S 56 GlC 

10. 

V[,MI 5wWlTDF\4 ;DT],GDF\ H]NFvH]NF O[hGL ;\bIF4 38SMGL ;\bIF VG[ l0U|L VMO OL0DGM ;\A\W NXF”J[ T[ 
lGIDG[___________ SC[ K[P 
A.  ,LJZ ~, B. ULa;GM ~, 
C. CI]D ZM0ZLGM lGID D.  VFDF\YL V[S 56 GlC 

11. 

V[,MI ;L:8DG[ 9\0L SZTF\4 ;DTF5LI ;DLSZ6 GLR[ 5|DF6[ YFI K[P TM VF 5|lS=IF ___________ SC[JFIP 
,LSJL0  ;M,L0 ! + ;M,L0 Z 
A.  I]8[S8M>0 ZLV[SXG B. 5[ZL8[S8LS ZLV[SXG 
C. I]8[S8LS ZLV[SXG D.  5[ZL8[S8LVM0 ZLV[SXG 

12. 
O[h 0FIU|FDDF\ H[ ,F.G GL p5Z V[,MI slDzWFT]f 5|JFCL VJ:YFDF\ CMI T[G[___________ SC[ K[ 
A.  ;M,L0; ,F>G B. ,LSJL0LI; ,F>G 
C. 8F. lA\N] D.  >gJX”G 

13. 

TTT 0FIU|FD VG];FZ s0.8% SFA”G :8L,f HM VM:8[GF.8 G[ h05YL 9\0] 5F0JFDF\ VFJ[ TM T[G\] ;}1D A\WFZ6 
___________ D/[ K[ 
A.  5,F”>8 B. A[GF>8 
C. ;LD[g8F>8 D.  DF8[”g;F>8 

14. 
H[ :8L, 100% 5,F”>8 WZFJ[ T[GL V\NZ SFA”GG\] 5|DF6 ___________ CMI K[P 
A.  0.8% B. 0.025% 
C. 1.7% D.  6.67% 

15. 
WFT]SFlD”S DF.S=M:SM5 J0[ SIF :8=SRZG\] 5ZL1F6 YFI K[m 
A.  D[S=M :8=SRZ B. DF.O=M :8=SRZ 
C. V[8MlDS :8=SRZ D.  G[GM :8=SRZ 

16. 
GLR[GL S. J:T] WFT]SFlD”S DF>S=M:SM5GM EFU GYLm 
A.  VF>ZL; B. G[+ SFR 
C. OF>G V[0H[:8D[g8 :S] D.  V[lR\U 

17. 
;FMl0ID S,MZF0.0 GLR[GF DF\YL SIF ZF;FIl6S A\WG\] pNFCZ6 K[m  
A.  VFIlGS A\W B. ;C;\IMHS  A\W 
C. JFg0Z JF<; VFSQF”6 A/M D.  WFltJS A\W 

18. 
DF>,0 :8L, DF8[___________V[lR\U J5ZFI K[ 
A.  GF>8, B. HCL 
C. S[,Z ZLV[Hg8 D.  VF<SMCM, 

19. 
5LU VFI”G GFDGL p5H ___________DF\ D/[ K[ 
A.  SI}5M,F OZG[X B. A[;[DZ SgJ”8Z 
C. 50,L\U OZG[X D.  a,F:8 OZG[X 

20. 
jCF>8 SF:8 VFI”G ___________ K[P 
A.  AZ0 WFT] B. ;AT WFT] 
C. IF\l+S U}6W”DM ;FZF GCL WZFJT\] D.  VF AWF H 

21. 
GLR[GFDF\YL S. WFT] SF:8[AL,L8L VG[ ;[<O ,]lA|S[8L\U GM U]6W”D WZFJ[ K[P   
A.  jCF>8 SF:8 VFI”G B. GM0I]AZ SF:8 VFI”G 
C. U|[ SF:8 VFI”G  D.  D[,[A, SF:8 VFI”G 

22. 
DwID 5|SFZ SFA”G :8L, DF\ SFA”G G\] 5|DF6 __________% CMI K[P 
A.  0.05 YL 0.15 B. 0.1 YL 0.3 
C. 0.3 YL 0.6 D.  0.8 YL 2.0 

23. 
GLR[GFDF\YL SIF :8L,GL 0S8L,L8L JWFZ[ CMI K[m   
A.  DF><0 :8L, B. DwID SFA”G :8L, 
C. CF> SFA”G :8L, D.  CF> SFA”G 8}, :8L, 

24. 
65T5____________ K[P 
A.  8}, :8L, B. :8=SRZ :8L, 
C. %,[G SFA”G :8L, D.  :8[G,[X :8L, 



25. 
HM :8L,DF\ SM5ZG\] 5|DF6 JWFZJFDF\ VFJ[ TM ___________ JWFZM YFI K[P 
A.  J[<0[lA,L8L B. 8[g;F., :8[=gY 
C. 8OG[X D.  SMZMhG 5|lTZMWSTF 

26. 
____________ 5|lS=IFDF\ OZG[XGL V\NZ 5NF”YG[ lJ3]T 5|JFC A\W SZLG[ 9\0] 5F0JFDF\ VFJ[ K[P 
A.  CF0”GL\U B. GMD[“,F>hL\U 
C. V[GL,L\U D.  8[d5ZL\U 

27. 
V[G[,L\UGL ;ZBFD6LDF\ GMD[“,F>hL\U :8L, ____________ JWFZ[ WZFJ[ K[P 
A.  :8[=gY B. CF0”G[X 
C. >d5[S8 :8=[GyF D.  VF AWFH  

28. 
CFZ0G SZ[,F :8L, GF DF>S=M:8=SRZ DF\ ____________  CMI  K[P 
A.  A[GF>8 B. O[ZF>8 
C. DF8”G[;F>8 D.  5,F”>8 

29. 

____________ 5|lS=IFDF\ 5C[,F\ ;BT SZ[,F :8L,G[ T[GF S=L8LS, TF5DFG GL GLR[ UZD SZJFDF\ VFJ[ K[ VG[ 
OZLYL ~D TF5DFG[ 9\0] 5F0JFDF\ VFJ[ K[P 
A.  CF0”GL\U B. GMD”,F>hL\U 
C. V[G[,L\U D.  8[d5ZL\U 

30. 
prR VFJ’lTJF/M lJ3]T 5|JFC ____________ CF0”GL\U 5|lS=IFDF\ J5ZFI K[P 
A.  O,[D B. >g0SXG  
C. SF”aI]ZF>hL\U D.  GF>8=L0L\U 

31. 
;FDFgI ZLT[ ULI;”GF NF\TF ____________ CF0”GL\U 5|lS=IF äFZF ;BT SZJFDF\ VFJ[ K[P 
A.  O,[D B. >g0SXG  
C. SF”aI]ZF>hL\U D.  GF>8=L0L\U 

32. 
GF>8=L0L\U 5|lSIF DF\ ____________ U[;GM p5IMU YFI K[ 
A.  NH3 B. N2 
C. NO D.  CO2 

33. 
____________ prR 9FZ6 NZ VF5[ K[P 
A.  A|F>G ;M<I]XG B. 9\\0] 5F6L 
C. UZD 5F6L D.  DLGZ, VM>, 

34. 
DO, OZG[X ____________ 5|SFZGL CMI K[P 
A.  A[R B. >,[S8=LS lC8[0 
C. CF0”GL\U D.  VF AWFH 

35. 
5,F”>8 V[____________ :TZLI DF/B\] K[P 
A.  l;D[g8F>8 VG[ VM:8[GF>8 B. VM:8[GF>8 VG[ O[ZF>8 
C. O[ZF>8 VG[ l;D[g8F>8 D.  A[GF>8 VG[ O[ZF>8 

36. 
____________ A[ S[ T[GL JW] TtJM WZFJT]\ WFltJS U]6W”DM JF/]\ lDz6 S[ H[DF\YL V[S WFT] CMI K[P 
A.  0\[0=F>8 B. lDzWFT] 
C. Sd5MhF>8 D.  VW”JFCS 

37. 
WFT]SFlD”S ;}1DNX”SGM D[uGLlOS[XG 5FJZ ____________ K[P 
A.  20 YL GLR[ B. 20 YL 2000 
C. 2000 YL 20,000 D.  20,000 YL p5Z  

38. 

G[+SFR GM D[uGLlOS[XG 20 X K[ VG[ VMaH[S8LJ GM  40 X K[P TM WFT] SFlD”S ;}1DNX”SGM D[uGLlOS[XG 
____________ YFI K[ 
A.  60 X B. 2 X
C. 800 X D.  20 X

39. 
,MCWFT]VMGL ;ZBFD6LDF\  V,MC WFT]VM VG[ T[GL lDzWFT]VMGM OFINM ____________ K[P 
A.  ;FZL SF8 5|lTZMWSTF B. 3GTFG\] GLR\] D}<I 
C. prR DHA]TF. VG[ JHG GM U]6MTZ D.  p5ZGF AWFH 

40. 
GLR[GFDF\YL S. T\FAFGL lDzWFT] K[m  
A.  UG D[8, B. A|F; 
C. A|Mgh D.  p5ZGF AWFH 

41. 
____________ V[ R/SF8JF/\] 5L/FX 50TF ZFTF Z\UG\] VG[ pQDF VG[ lJ3}TG\] ;}JFCS K[P 
A.  V[<I]DLGLID B. TF\A] 
C. hL\S D.  ;L;\] 



42. 
SF8”ZLh A|F;DF\ ____________ @ TF\A] VG[____________ @ hL\S CMI K[P 
A.  70, 30 B. 60, 40
C. 30, 70 D.  40, 60

43. 
A|Mgh V[ ;FDFgI ZLT[ GLR[GFDF\YL ____________DF\ J5ZFI K[P 
A.  A[ZL\U B. 5F>%; 
C. XL8 D.  G8 VG[ AM<8 

44. 
GLR[GFDF\YL S. V[<I]lDlGID GL lDzWFT] K[m ____________  
A.  UG D[8, B. Y v V[,MI 
C. D]g8h D[8, D.  lU<0L\U D[8, 

45. 
:8L,GL ;ZBFD6LDF\ V[<I]lDlGID ____________ WZFJ[ K[P 
A.  prR DHA]TF. B. prR S9LGTF 
C. CF. DXLG[AL,L8L D.  lGdG SF9 5|lTZMWSTF 

46. 
V[ZS|FO8GF EFUMGF pt5FNGDF\ ____________ GM p5IMU YFI K[P 
A.  0I]Z[,]DLG B. D[[\U[,LID 
C. lCg0[,LID D.  VFDF\YL V[S 56 GCL 

47. 
Z;M>GF JF;6M AGFJJFDF\ ____________ J5ZFI K[P 
A.  0I]Z[,]DLG B. D[[\U[,LID 
C. lCg0[,LID D.  VFDF\YL V[S 56 GCL 

48. 
V[A|[;LJ4 SFR VG[ pQDF;C 5NFY” V[____________ 5|SFZGF D8LZLI, K[P 
A.  WFT]VM B. Sd5MhF>8 
C. ;LZFlDS D.  VW”JFCSM 

49. 
GLR[GFDF\YL SIM U]6W”D l;ZFlDS D8LZLV, GM GYLm  
A.  prR NFALI ;FDyI” B. pQDFGM VJFCS 
C. ;FZL ;ATF. D.  lJ3]T GM ;}JFCS 

50. 
prR TF5DFGG[ ;CG SZL XSTF D8LZLI,G[____________ SC[ K[P 
A.  V[A|[;LJ B. SFR 
C. ;LZFDLS D.  lZO[S8ZL 

51. 
U|F>g0LU jCL, IMuI AMg0 ;FY[____________ D8LZLI,GF\ 5F8L”S,MG\] AMg0L\U SZLG[ AGFJFI K[P 
A.  V[A|[;LJ  B. u,F; 
C. V[0C[;LJ D.  lZO[S8ZL 

52. 
GLR[ VF5[,F D8LZLI, DF\YL ____________ D8LZLV, VJFCS TZLS[ J5ZFI K[P 
A.  V[:A[:8M; B. U|F:S[8 
C. YDM”SM, D.  VF AWFH 

53. 
____________ YDM” ;[8L\U %,F:8LS K[P 
A.  5M,L:8LZLG B. D[,FDF>G 
C. 5M,L>YL,LG D.  V[SZ[,LS; 

54. 
YDM”%,F:8LSG[____________  
A.  OZLYL VFSFZ GYL VF5L XSFTM B. prR TF5DFG[ JF5ZL XSFI K[ 
C. V[0LXG 5M,LDFZ>hXG J0[ D[/JFI K[P D.  S|M; ,L\S0 :8=SRZ WZFJ[ K[P 

55. 
8}YA\XG\] C[g0, ____________ DF\ YL AGFJFI K[P 
A.  ;[<I],Mh B. D[,FDF>G 
C. I]lZIF OMDF”<0LCF>0 D.  5M,LV[:8Z 

56. 
D[,FDF>G ____________ AGFJFDF\ J5ZFI K[P 
A.  ;SL”8 A|[SZ B. Z[l0IMGL S[lAG[8 
C. S5vZSFAL D.  p5ZGF AWFH 

57. 

5FJ0Z D[8,”ÒGL AGFJ8DF\ ;FRF TASSFVM GF S=D VG];FZ UM9JM o 
;Lg8ZL\U (1), 5Fp0Z G\]  pt5FNG (2), a,[g0L\U VMO 5Fp0Z (3), SMd5[S8L\U (4) 
A.  1-2-3-4 B. 2-3-4-1
C. 2-1-4-3 D.  4-1-3-2

58. 
GLR[DF\YL S. J:T] 5FJ0Z D[8,Ò” ;FY[ ;\S/FI[, GYLm  
A.  >,[S8=LS A<AGM lO,FD[g8 B. 8\U:8G SFAF”>0 8L5 
C. AM, 5[G 5M>g8 GM AM, D.  O[GGM 5F\lBIM sa,[0f 

59. GLR[GFDF\YL S> AFAT 5FJ0Z D[8,”Ò GL p5ZMlUTF ;FY[ ;\S/FI[, GYLm 



A.  S[5L8, lSD\TG\] GLR]\ D}<I B. lKN=F/] EFUGL AGFJ8 
C. ;FZF 5lZ6FDGL ;RM8TF D.  D8[ZLV,GM AUF0 GCLP 

60. 
V[<I]lDlGID VG[ 8LGGF 5FJ0ZGL AGFJ8DF\ ____________ 5wWlT J5ZFI K[P 
A.  ZL0SXG B. .,[S8=M,F>;L; 
C. V[8MDF.h[XG  D.  lDS[GLS, 5<JZF>h[XG 

61. 
GLR[GFDF\YL S. AFAT >,[S8=Mv%,[ZL\U GM pN[xI GYLm 
A.  N[BFJDF\ ;}WFZM B. 1FFZ6 ;FD[ Z1F6 
C. 3;FI[,F EFUMGM OZL p5IMU D.  CF0”G[XDF\ ;}WFZM 

62. 
GLR[GL WFT]VMG[ 5|DFl6T >V[DV[O z[6L 5|DF6[ lGQS=LITFGF R-TF S=DDF\ ,BMP  ;MG\]4  RF\NL4 VFIG”P 
A.  VFIG”4 RF\NL4 ;MG\]  B. ;MG\]4 RF\NL4 VFIG” 
C. RF\NL4 ;MG\]4 VFIG” D.  VFIG”4 ;MG\]4 RF\NL 

63. 
U[<J[GLS z[6L DF8[____________  
A.  %,[8LGD p\RL lGQS=LITF WZFJ[ K[ B. D[uG[XLID JW] ;S=LI K[  
C. >V[DV[O JW] jIJCFZLS VG[ JF:TlJS K[ D.  p5Z GF AWFH 

64. 
____________ V[ :YFlGS’T BJF6 K[ H[DF GFGF lKN=M AG[ K[P 
A.  S[=JF>; BJF6  B. l58L\U 1FFZ6 
C. I]lGOM”D BJF6 D.  :8[=; BJF6 

65. 
____________ V[ 8[g;F., :8[=; VG[ BJF6 5|[ZS JFTFJZ6GL ;\I}ST V;ZG\] 5lZ6FD K[P 
A.  S[=JF>; BJF6 B. l58L\U BJF6 
C. I]lGOM”D BJF6  D.  :8=[; BJF6 

66. 

HIFZ[ WFT]GF 5|DFl6T SMQFG[ 250C TF5DFG[ CF.0=MHG W|]J ;FY[ HM0JFDF\ VFJ[ TM pt5HF YTF\ JM<8[HG\] 
D}<I____________ z[6L 58 VFWFZ ZFB[ K[P 
A.  U[<J[GLS B. ;DF\TZ  
C. 5|DFl6T >V[DV[O D.  CF>0=MHG 

67. 
VF DF\YL SIF 5NF”YG\] V[S ;D}C BJF6 5|lTZMWSTF WZFJ[ K[m 
A.  :8[>G,[; :8L,4 DF><0 :8L, B. DF><0 :8L,4 DLl0ID SFA”G :8L, 
C. DF>,0 :8L,4 %,F:8LS D.  :8[>G,[; :8L,4  %,F:8LS 

68. 
A[ 5NFYM”GL ;5F8LG[ HM0L ZFBJF DF8[ J5ZFTF 5NFY” G[____________ SC[ K[P 
A.  V[A|[;LJ B. V[0C[;LJ 
C. lDzWFT] D.  l;ZFlDS 

69. 

5F0MXL 5ZDF6]GF >,[S8=MG YL ZRFTF 5|FZ\lES VF\TZ 5ZDF6]GF .,[S8=MG YL ZRFTF 5ZDFl^JI 
A\WG[____________ SC[ K[P 
A.  WFltJS A\W B. CF.0=MHG A\W 
C. ;C;IM\HS A\W D.  SMl0”G[XG G\AZ 

70. 
;FDFgI ZLT[ é\RF TF5DFG[ :8=[; VF5TF\ ;DI VFWFZLT SFIDL lJS’lTG[____________ SC[ K[P 
A.  S=L5 B. 8OG[X 
C. V[g0I]Zg; D.  0S8L,L8L 

 
 

************** 


